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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- A: Have you finished typing the report?
B: Yes, 1 | it five minutes ago.
1) did / have finished 2) have / finished
3) did / finished 4) have / have finished
77- People from other countries think that British are cold and unfriendly, ------—-----
1) are they 2) aren't they 3) do they 4) don't they
78- A: What's happening in that room?
B: The problems ------------

1) are being solved 2) were solved 3) have solved 4) will solve

79- A ------------ is your sister?

B: She has gone to school.

1) Where 2) What 3) How 4) Why

80- It was late ~————---—— I was tired, ~——--————-- I went to bed.
1) but/so - 2)so/and 3) and/ so 4) but / and

81- We should -------=-=-- a list of everybody who would be willing to help the poor students.
1) translate 2) invent 3) found 4) compile

82- Carmen has accepted the full ------------ of all the animals, the children, and the house.
1) dedication 2) responsibility 3) experience 4) interest

83- The newspaper readers select the interesting issues and don't read the ---—-----—-—- ones.
1) boring 2) difficult 3) moral 4) simple

84- It is his job to --------=--- the people who are in dangerous conditions.
1) install 2) confirm 3) protect 4) prefer

85- When people don't know what to teach their children, their cultural ---—----—- is in
danger.
1) religion 2) emotion 3) heritage 4) inspiration

86- My father is -----------—- of the fact that he's never been in a traffic accident.
1) special 2) common 3) proud 4) serious

87- Many believe that home school students will find it difficult to ----—-----——-—- enter society as
adults.

1) certainly 2) successfully 3) directly 4) suddenly
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88- This is a very difficult word. Many students have to --------——--- its meaning in the
dictionary.
1) look at 2) look after 3) look for 4) look up

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

When I first started learning English ten years ago, I could hardly say a word-'hello',
'soodbye’ and 'thank you'. [ went to classes two evenings a week and I was surprised at

how (89) ------------ I made progress. During the course we learned (90) ------------
vocabulary and studied grammar rules. The thing I enjoyed most was being able to
(91) == speaking with the other students in my class.

After two years, I went to England to a language school. It was in Cambridge. 1
took a three-week course at a very good school and I stayed with a local family. It was
(92) -------m-- experience and I picked up some language from speaking with my host
family and with other students from all over the world. I really improved my
pronunciation as well. When I got back to Spain, I was so much (93) -------—-—--- .I
could actually start a conversation with my teacher in English.

89- 1) quickly 2) certainly 3) carefully 4) calmly
90- 1) lots 2) lot of 3) lots of 4) at lot
91- 1) magnify 2) practice 3) discover 4) identify
92- 1) ordinary 2) wonderful 3) famous 4) moral
93- 1) most confident 2) the more confident

3) the most confident 4) more confident

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

For most people, newspapers are valuable as carriers of news. They are valuable for
other reasons too. With their wide variety of text-types and language styles,
newspapers are a good basis for language study. They are sources of language which
you will not find in conventional language learning materials and which will help you
to be familiar with and use many different communicative skills.

Newspapers also help you to share ideas and to understand cultural values, and the
great variety of information in them makes them interesting to work with.
Furthermore, if you do not work with newspaper samples during your language
studies, you will be badly prepared to manage them when you live or travel in an
English-speaking country, such as Great Britain and the United States.

It is important for you to get into the 'newspaper habit' by reading a little of an
English language newspaper on a regular basis. If you are unable to buy one, it will
often be possible for you to read English newspapers in a school, college or city
library. Regular reading will help you to understand recent news events more clearly
and recognize differences in life-styles. I hope that, at the very least, this unit will
encourage you to adopt the newspaper habit.
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The best title for this passage is ----—-----——- .

1) Carrier of News 2) Sources of Forms of Language
3) The importance of Newspaper 4) Newspaper and Cultural Values
The reason that causes the newspapers to be interesting for people is --—------—--- .
1) a lot of different information in them  2) understanding the different life-styles
3) the value of them for our travelling 4) familiarity with many languages
You can find from the passage that the newspapers are --—--------.

1) everywhere for example in a school, college or city library

2) just in the learning centers

3) only in the stores and in the learning centers

4) just in the stores

By writing this passage, the author wants -—-—---—---- .

1) you to learn English language

2) to use many different communicative skills

3) to encourage you to buy a newspaper

‘4) you to read newspaper regularly

PASSAGE 2:

Together with its benefits, the automobile brings problems. The problems brought by
automobile can be divided into two parts: good and bad sides. On the good side, the
automobile is fast, dependable, and flexible. It takes a person where he wants to go
when he wants to go. It protects the driver and his passengers from rain, snow, and
sun. It comes in many colors, sizes, and shapes to please nearly every personality. On
the bad side, the automobile adds to air pollution. It requires the use of much land for
highways and parking lots. It consumes billions of liters of gasoline. It has enabled
many people to leave the farm for the cities and the cities for the suburbs. Thus, it has
become an integral part of the life style of the 20th century man.

It's pointed out that ----------—-- .

1) the 20™ century man doesn't like cars

2) billions are spent on the design of new cars

3) passengers are not happy because of the noise

4) every person can find a car suitable for his taste

One advantage of automobile is that it -———---—--.

1) uses up a lot of gasoline

2) needs too much land for highways

3) protects us from negative weather conditions

4) makes life difficult in this century.

Automobiles have a lot of negative things but ~--------——- .

1) many people have to leave cities 2) we cannot do anything without them

3) the air pollution increases day by day ~ 4) one cannot find a place to park his car
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